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SEBI Grade A English Language (Solutions) 
 

S1. Ans.(e) 

Sol. Refer to 1st paragraph of the passage, “between insurance companies that offer different packages of 

treatments, integrate care, and insure people against risks without all the inefficiencies of the government’’. 

 

S2. Ans.(d) 

Sol. Refer to the 2nd paragraph of the passage, “Private, competitive insurance companies fragment risk 

pools. Each company competes for the most lucrative risk pool, which means the richest and healthiest 

people’’. 

 

S3. Ans.(d) 

Sol. It is the most suitable title for the passage. 

 

S4. Ans.(d) 

Sol. Refer to the 2nd paragraph of the passage, “One is to just discourage sick or prospectively sick people 

such as smokers from joining’’, option (b) can be indirectly correct but we always choose the one which is 

the most suitable and correct answer. 

 

S5. Ans.(b) 

Sol. Refer to the 2nd paragraph of the passage, “Another is “actuarial” rate-setting in which they try to match 

insurance premiums with likely expenditures. Actuarial rate setting is a good deal for healthy people who 

have an unexpected event, but a very bad deal for people in ill health, who might find insurance entirely 

unaffordable’’. 

 

S6. Ans.(d) 

Sol. As it brings instability. 

 

S7. Ans.(d) 

Sol. Catastrophe means an event causing great and usually sudden damage or suffering; a disaster hence 

calamity is the word most similar in meaning. 

 

S8. Ans.(a) 

Sol. Prospective means expected or expecting to be the specified thing 

in the future hence imminent is the word most similar in meaning. 

 

S9. Ans.(a) 

Sol. Entrench means establish (an attitude, habit, or belief) so firmly 

that change is very difficult or unlikely hence superficial is the word 

most opposite in meaning. 
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S10. Ans.(c) 

Sol. Regime means a government, especially an authoritarian one hence anarchy is the word most opposite 

in meaning. 

 

S11. Ans.(e) 

Sol. No correction required. 

 

S12. Ans.(b) 

Sol. The correct sentence is ‘believed that a crime created’ because that is a conjunction which should be 

preceded by principal verb(believed).  

 

S13. Ans.(a) 

Sol. The correct sentence is ‘were more afflicting’ because ‘Calamities’ and ‘Indigence’ make plural subjects 

and hence verb should be plural. 

 

S14. Ans.(a) 

Sol. The correct sentence is ‘Because the candidate failed’ because this is a conditional sentence. 

[If+S+V1, S+will+V1 ] 

 

S15. Ans.(b) 

Sol. The correct sentence is ‘it is against’. 

 

S16. Ans.(d) 

Sol. ‘output’ is the correct answer as we are talking about increasing (augmenting) agriculture outputs. Use 

of rainfall in a sentence is the first indication that the sentence is about increasing the output and not of 

consumption. 

 

S17. Ans.(b) 

Sol. We ‘release’ gas we never ‘expose’ it for eg.- we expose our skin . 

 

S18. Ans.(d) 

Sol. ‘process’ is the only word that fills the blank correctly. 

 

S19. Ans.(c) 

Sol. There can be doubt between conduct and manage but we use 

conduct as one bank don’t manage the activities of other bank though 

it can conduct it by formulating regulations. 

 

S20. Ans.(a) 

Sol. Pace means speed in walking, running, or moving. Here we are 

talking about growth speed so pace is used.  
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